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Ms. Wilson

Coordinate Geometry Proofs – CCSW Task

Answer the entire question below. Clearly indicate the necessary steps, including appropriate formula substitutions, diagrams, graphs, charts, etc.  Extra graphs have been provided.
1. Ashanti is surveying for a new parking lot shaped like a parallelogram.  She knows that three of the vertices of parallelogram ABCD are A(0,0), B(5,2), and C(6,5). Find the coordinates of point D and sketch parallelogram ABCD on the accompanying set of axes.  Justify mathematically that the figure you have drawn is a parallelogram.
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2. Assuming the orientation of the letters is not important, is there another place Ashanti can place D so that ABCD is still a parallelogram?  Justify your answer.

3. Ashanti’s boss told her that they needed to revise the survey so the parking lot will be shaped like an isosceles trapezoid.  Ashanti determined that the new coordinate for D should be (-4, 1).  Is she correct?  Explain why or why not.

